

PROPERTIES FOR A CLASS RELATED TO Q-FRACTIONAL DIFFERENTIAL OPERATOR

M.A. MOWAFY, A.O. MOSTAFA, S.M. MADIAN

ABSTRACT. The object of this paper is to introduce and study modified Hadamard product and partial sums and some properties of a class defined by q -Al-Oboudi - Al-Amoudi operator.

2010 *Mathematics Subject Classification*: 30C45.

Keywords: Coefficient estimate, modified Hadamard product, q -difference, fractional operator and partial sums.

1. INTRODUCTION

Let \mathcal{A} denote the class of functions:

$$f(z) = z + \sum_{k=2}^{\infty} a_k z^k, \quad (1.1)$$

which are analytic in $U = \{z \in \mathbb{C} : |z| < 1\}$ and $\mathfrak{S} \subset \mathcal{A}$ for which

$$f(z) = z - \sum_{k=2}^{\infty} a_k z^k \quad (a_k \geq 0). \quad (1.2)$$

The q -difference operator for function $f(z)$ defined by ([1], [6, 7], [9], [15] and [17]);

$$D_q = \begin{cases} \frac{f(z) - f(qz)}{(1-q)z} & , z \neq 0 \\ f'(0) & , z = 0 \end{cases}, \quad (1.3)$$

that is

$$D_q f(z) = 1 + \sum_{k=2}^{\infty} [k]_q a_k z^k, \quad (1.4)$$

where

$$[k]_q = \frac{1 - q^k}{1 - q}, [0]_q = 0. \quad (1.5)$$

Note that:

As $q \rightarrow 1^-$, $[k]_q = k$, $D_q f(z) = f'(z)$.

The fractional q -derivative operator of order α for analytic function f defined in a simply connected domain, contains zero is defined by [6],

$$D_{q,z}^\alpha f(z) = \frac{1}{\Gamma_q(1-\alpha)} \int_0^z \frac{f(t)}{(z-t)^\alpha} d_q t, \quad 0 \leq \alpha < 1,$$

$$\Omega_q^\alpha f(z) = \Gamma_q(2-\alpha) z^\alpha D_{q,z}^\alpha f(z),$$

$$= z + \sum_{k=2}^{\infty} \frac{\Gamma_q(k+1)\Gamma_q(2-\alpha)}{\Gamma_q(k+1-\alpha)} a_k z^k \quad (0 < q < 1, 0 \leq \alpha < 1),$$

where multiplicity of $(z-t)^{-\alpha}$ is removed by requiring $\log(z-t)$, to be real when $z-t \neq 0$ (for $q \rightarrow 1^-$ see [18], [19]).

For $\lambda \geq 0$, $0 \leq \alpha < 1$, $0 < q < 1$, $n \in \mathbb{N}_0 = \mathbb{N} \cup \{0\}$ and f is given by (1.1) we defined new q -fractional derivative operator as follows,

$$\begin{aligned} D_{\lambda,q}^{0,0} f(z) &= f(z), \\ D_{\lambda,q}^{1,\alpha} f(z) &= (1-\lambda)\Omega_q^\alpha f(z) + \lambda z D_q(\Omega_q^\alpha f(z)) = D_{\lambda,q}^\alpha f(z), \\ D_{\lambda,q}^{2,\alpha} f(z) &= D_{\lambda,q}^\alpha (D_{\lambda,q}^\alpha f(z)), \\ D_{\lambda,q}^{n,\alpha} f(z) &= D_{\lambda,q}^\alpha (D_{\lambda,q}^{n-1,\alpha} f(z)), \\ &= z + \sum_{k=2}^{\infty} \Psi_{k,n,q}(\alpha, \lambda) a_k z^k, \end{aligned} \quad (1.6)$$

where

$$\Psi_{k,n,q}(\alpha, \lambda) = \frac{\Gamma_q(k+1)\Gamma_q(2-\alpha)}{\Gamma_q(k+1-\alpha)} [1 + \lambda([k]_q - 1)]^n. \quad (1.7)$$

We note that for $q \rightarrow 1^-$

- (i) $D_{\lambda,q}^{n,\alpha} = D_\lambda^{n,\alpha}$, where this operator modified the operator of [3, 8],
- (ii) $D_\lambda^{0,\alpha} = D_z^\alpha$ (see [18], [19]),

- (iii) $D_1^{n,0} = D^n$ [20],
- (iv) $D_\lambda^{n,0} = D_\lambda^n$ [2].

Definition 1. For $\lambda, \mu \geq 0$, $\gamma \geq 1$, $0 \leq \alpha, \beta < 1$, $0 \leq \delta \leq 1$, $n \in \mathbb{N}_0$ and a function $f \in \mathcal{A}$ is in the class $S_{\lambda,q}^{n,\alpha}(\delta, \gamma, \mu, \beta)$, if it satisfies

$$\operatorname{Re} \left\{ \frac{\gamma z D_q G(z)}{G(z)} - (\gamma - 1) \right\} > \mu \left| \frac{\gamma z D_q G(z)}{G(z)} - \gamma \right| + \beta, \quad (1.8)$$

where

$$G(z) = (1 - \delta) D_{\lambda,q}^{n,\alpha} f(z) + \delta z \left(D_q D_{\lambda,q}^{n,\alpha} f(z) \right). \quad (1.9)$$

Let

$$TS_{\lambda,q}^{n,\alpha}(\delta, \gamma, \mu, \beta) := S_{\lambda,q}^{n,\alpha}(\delta, \gamma, \mu, \beta) \cap \mathfrak{S}. \quad (1.10)$$

We note that as $q \rightarrow 1^-$:

$S_{\lambda,q}^{n,\alpha}(0, 1, \mu, \beta) = SP_{\alpha,\lambda}^n(\mu, \beta)$ and $S_{\lambda,q}^{n,\alpha}(1, 1, \mu, \beta) = UCV_{\alpha,\lambda}^n(\mu, \beta)$ [3, 8, with $\Psi_{k,n,q}(\alpha, \lambda)$ of the form (1.7)]. For different values of $n, \alpha, \lambda, \delta, \gamma, \mu$ and β , we get the classes defined by [8] and [10 – 13].

2. COEFFICIENT ESTIMATE

In the rest of the paper let $0 \leq \alpha, \beta < 1$, $\lambda, \mu \geq 0$, $\gamma \geq 1$, $0 \leq \delta \leq 1$, $n \in \mathbb{N}_0$, $0 < q < 1$ and $\Psi_{k,n,q}(\alpha, \lambda)$ as (1.7).

Theorem 1. If $f \in \mathcal{A}$, satisfies

$$\sum_{k=2}^{\infty} \left[1 - \beta + \gamma \left([k]_q - 1 \right) (1 + \mu) \right] \left[1 + \left([k]_q - 1 \right) \delta \right] \Psi_{k,n,q}(\alpha, \lambda) |a_k| \leq 1 - \beta, \quad (2.1)$$

then $f \in S_{\lambda,q}^{n,\alpha}(\delta, \gamma, \mu, \beta)$.

Proof. Assume that (2.1) hold. Since for real β and complex number w ,

$$R(w) \geq \beta \Leftrightarrow |w + (1 - \beta)| - |w - (1 + \beta)| \geq 0, \quad (2.2)$$

then by Definition 1 it is sufficient to show that

$$\begin{aligned} & \left| \frac{\gamma z D_q G(z)}{G(z)} - (\gamma - 1) - \mu \left| \frac{\gamma z D_q G(z)}{G(z)} - \gamma \right| - (1 + \beta) \right| \leq \\ & \left| \frac{\gamma z D_q G(z)}{G(z)} - (\gamma - 1) - \mu \left| \frac{\gamma z D_q G(z)}{G(z)} - \gamma \right| + (1 - \beta) \right|. \end{aligned} \quad (2.3)$$

For the right-hand side of (2.3)

$$\begin{aligned} R & : = \left| \frac{\gamma z D_q G(z)}{G(z)} - (\gamma - 1) - \mu \left| \frac{\gamma z D_q G(z)}{G(z)} - \gamma \right| + (1 - \beta) \right| \\ & = \frac{1}{|G(z)|} \left| \gamma z D_q G(z) + (2 - \beta - \gamma) G(z) - \mu e^{i\theta} |\gamma z D_q G(z) - \gamma G(z)| \right| \\ & > \frac{|z|}{|G(z)|} \left\{ 2 - \beta - \sum_{k=2}^{\infty} \left[2 - \beta + \gamma \left([k]_q - 1 \right) (1 + \mu) \right] \left[1 + \left([k]_q - 1 \right) \delta \right] \Psi_{k,n,q}(\alpha, \lambda) |a_k| \right\}. \end{aligned}$$

Similarly, the left

$$\begin{aligned} L & : = \left| \frac{\gamma z D_q G(z)}{G(z)} - (\gamma - 1) - \mu \left| \frac{\gamma z D_q G(z)}{G(z)} - \gamma \right| - (1 + \beta) \right| \\ & = \frac{1}{|G(z)|} \left| \gamma z D_q G(z) - (\gamma - 1) G(z) - \mu e^{i\theta} |\gamma z D_q G(z) - \gamma G(z)| - (1 + \beta) G(z) \right| \\ & < \frac{|z|}{|G(z)|} \left\{ \beta + \sum_{k=2}^{\infty} \left[\gamma \left([k]_q - 1 \right) (1 + \mu) - \beta \right] \left[1 + \left([k]_q - 1 \right) \delta \right] \Psi_{k,n,q}(\alpha, \lambda) |a_k| \right\}. \end{aligned}$$

Since

$$R - L >$$

$$\frac{|z|}{|G(z)|} \left\{ 2(1 - \beta) - 2 \sum_{k=2}^{\infty} \left[1 - \beta + \gamma \left([k]_q - 1 \right) (1 + \mu) \right] \left[1 + \left([k]_q - 1 \right) \delta \right] \Psi_{k,n,q}(\alpha, \lambda) |a_k| \right\} \geq 0,$$

then the required condition (2.3) is satisfied, so $f \in S_{\lambda,q}^{n,\alpha}(\delta, \gamma, \mu, \beta)$.

Theorem 2. Let $f \in \mathfrak{S}$, then $f \in TS_{\lambda,q}^{n,\alpha}(\delta, \gamma, \mu, \beta)$, if and only if

$$\sum_{k=2}^{\infty} \left[1 - \beta + \gamma \left([k]_q - 1 \right) (1 + \mu) \right] \left[1 + \left([k]_q - 1 \right) \delta \right] \Psi_{k,n,q}(\alpha, \lambda) a_k \leq 1 - \beta. \quad (2.4)$$

Proof. Assume that (2.4) holds and in virtue of Theorem 2.1, then $f \in TS_{\lambda,q}^{n,\alpha}(\delta, \gamma, \mu, \beta)$.

Conversely, suppose $f \in TS_{\lambda,q}^{n,\alpha}(\delta, \gamma, \mu, \beta)$, choosing the values of z , on the positive real axis the inequality (1.8) reduces to:

$$\frac{1 - \sum_{k=2}^{\infty} \left[1 + \left([k]_q - 1 \right) \gamma \right] \left[1 + \left([k]_q - 1 \right) \delta \right] \Psi_{k,n,q}(\alpha, \lambda) a_k z^{k-1}}{1 - \sum_{k=2}^{\infty} \left[1 + \left([k]_q - 1 \right) \delta \right] \Psi_{k,n,q}(\alpha, \lambda) a_k z^{k-1}} - \beta >$$

$$\mu \left| \frac{\sum_{k=2}^{\infty} \left[1 + \left([k]_q - 1 \right) \gamma \right] \left[1 + \left([k]_q - 1 \right) \delta \right] \Psi_{k,n,q}(\alpha, \lambda) a_k z^{k-1}}{1 - \sum_{k=2}^{\infty} \left[1 + \left([k]_q - 1 \right) \delta \right] \Psi_{k,n,q}(\alpha, \lambda) a_k z^{k-1}} \right|.$$

Letting $z \rightarrow 1^-$, we obtain the desired inequality.

3. MODIFIED HADAMARD PRODUCTS FOR THE CLASS $TS_{\lambda,q}^{n,\alpha}(\delta, \gamma, \mu, \beta)$

Let f_j ($j = 1, 2, \dots, p$) be defined by

$$f_j(z) = z - \sum_{k=2}^{\infty} a_{k,j} z^k \quad (a_{k,j} \geq 0). \quad (3.1)$$

The modified Hadamard product of f_1 and f_2 is defined by

$$(f_1 * f_2)(z) = z - \sum_{k=2}^{\infty} a_{k,1} a_{k,2} z^k. \quad (3.2)$$

Theorem 3. Let $f_j(z) \in TS_{\lambda,q}^{n,\alpha}(\delta, \gamma, \mu, \beta)$, ($j = 1, 2$) defined by (3.1), then $(f_1 * f_2)(z) \in TS_{\lambda,q}^{n,\alpha}(\delta, \gamma, \mu, \rho)$, where

$$\rho = 1 - \frac{\gamma q (1 + \mu) (1 - \beta)^2}{[1 - \beta + \gamma q (1 + \mu)]^2 (1 + \delta q) \Psi_{2,n,q}(\alpha, \lambda) - (1 - \beta)^2}. \quad (3.3)$$

The result is sharp.

Proof. Employing the techniques used by Schild and Silverman [21], we need to find the largest ρ such that.

$$\sum_{k=2}^{\infty} \frac{[1 - \rho + \gamma ([k]_q - 1) (1 + \mu)] [1 + ([k]_q - 1) \delta] \Psi_{k,n,q}(\alpha, \lambda)}{1 - \rho} a_{k,1} a_{k,2} \leq 1. \quad (3.4)$$

Since

$$\sum_{k=2}^{\infty} \frac{[1 - \beta + \gamma ([k]_q - 1) (1 + \mu)] [1 + ([k]_q - 1) \delta] \Psi_{k,n,q}(\alpha, \lambda)}{1 - \beta} a_{k,j} \leq 1 \quad (j = 1, 2). \quad (3.5)$$

Then Cauchy-Schwarz inequality yields

$$\sum_{k=2}^{\infty} \frac{[1 - \beta + \gamma ([k]_q - 1) (1 + \mu)] [1 + ([k]_q - 1) \delta] \Psi_{k,n,q}(\alpha, \lambda)}{1 - \beta} \sqrt{a_{k,1} a_{k,2}} \leq 1. \quad (3.6)$$

Thus it suffices to show that

$$\begin{aligned} & \sum_{k=2}^{\infty} \frac{[1 - \rho + \gamma ([k]_q - 1) (1 + \mu)] [1 + ([k]_q - 1) \delta] \Psi_{k,n,q}(\alpha, \lambda)}{1 - \rho} a_{k,1} a_{k,2} \leq \\ & \sum_{k=2}^{\infty} \frac{[1 - \beta + \gamma ([k]_q - 1) (1 + \mu)] [1 + ([k]_q - 1) \delta] \Psi_{k,n,q}(\alpha, \lambda)}{1 - \beta} \sqrt{a_{k,1} a_{k,2}}, \quad (3.7) \end{aligned}$$

that is

$$\sqrt{a_{k,1} a_{k,2}} \leq \frac{(1 - \rho) [1 - \beta + \gamma ([k]_q - 1) (1 + \mu)]}{(1 - \beta) [1 - \rho + \gamma ([k]_q - 1) (1 + \mu)]} \quad (k \geq 2). \quad (3.8)$$

From (3.6) and (3.8), we need to prove that

$$\frac{1-\beta}{[1-\beta+\gamma([k]_q-1)(1+\mu)][1+([k]_q-1)\delta]\Psi_{k,n,q}(\alpha,\lambda)} \leq \frac{(1-\rho)[1-\beta+\gamma([k]_q-1)(1+\mu)]}{(1-\beta)[1-\rho+\gamma([k]_q-1)(1+\mu)]},$$

which leads to

$$\rho \leq 1 - \frac{(1-\beta)^2 \gamma ([k]_q - 1) (1 + \mu)}{[1 - \beta + \gamma ([k]_q - 1) (1 + \mu)]^2 [1 + ([k]_q - 1) \delta] \Psi_{k,n,q}(\alpha, \lambda) - (1 - \beta)^2}. \quad (3.9)$$

Since

$$\Phi_q(k) = 1 - \frac{(1-\beta)^2 \gamma ([k]_q - 1) (1 + \mu)}{[1 - \beta + \gamma ([k]_q - 1) (1 + \mu)]^2 [1 + ([k]_q - 1) \delta] \Psi_{k,n,q}(\alpha, \lambda) - (1 - \beta)^2}, \quad (3.10)$$

is an increasing function of $(k \geq 2)$, letting $k = 2$ in (3.10), we obtain

$$\rho \leq \Phi_q(2) = 1 - \frac{\gamma q (1 + \mu) (1 - \beta)^2}{[1 - \beta + \gamma q (1 + \mu)]^2 (1 + \delta q) \Psi_{2,n,q}(\alpha, \lambda) - (1 - \beta)^2}, \quad (3.11)$$

which proves the main assertion of Theorem 3.1. Finally,

$$f_j(z) = z - \frac{(1-\beta)}{[1-\beta+\gamma q(1+\mu)][1+\delta q]\Psi_{2,n,q}(\alpha,\lambda)} z^2 \quad (j = 1, 2), \quad (3.12)$$

give the sharpness.

Theorem 4. *If $f_j(z) \in TS_{\lambda,q}^{n,\alpha}(\delta, \gamma, \mu, \beta_j)$, $(j = 1, 2)$ defined by (3.1), then $(f_1 * f_2)(z) \in TS_{\lambda,q}^{n,\alpha}(\delta, \gamma, \mu, \rho_1)$, where*

$$\rho_1 = 1 - \frac{\gamma q (1 + \mu) (1 - \beta_1) (1 - \beta_2)}{[1 - \beta_1 + \gamma q (1 + \mu)][1 - \beta_2 + \gamma q (1 + \mu)] (1 + \delta q) \Psi_{2,n,q}(\alpha, \lambda) - (1 - \beta_1) (1 - \beta_2)}. \quad (3.13)$$

The result is the best possible for $f_j(z)$,

$$f_j(z) = z - \frac{(1-\beta_j)}{[1-\beta_j+\gamma q(1+\mu)][1+q\delta]\Psi_{2,n,q}(\alpha,\lambda)} z^2 \quad (j = 1, 2). \quad (3.14)$$

Proof. Proceeding as in the proof of Theorem 3.1, we get

$$\rho_1 \leq \Phi_q(k) = 1 - \frac{(1-\beta_1)(1-\beta_2)\gamma([k]_q-1)(1+\mu)}{[1-\beta_1+\gamma([k]_q-1)(1+\mu)][1-\beta_2+\gamma([k]_q-1)(1+\mu)][1+([k]_q-1)\delta]\Psi_{k,n,q}(\alpha,\lambda)-(1-\beta_1)(1-\beta_2)}, \quad (3.15)$$

since $\Phi_q(k)$ is an increasing function of $(k \geq 2)$, letting $k = 2$ in (3.15), we obtain

$$\rho_1 \leq \Phi_q(2) = 1 - \frac{\gamma q(1+\mu)(1-\beta_1)(1-\beta_2)}{[1-\beta_1+\gamma q(1+\mu)][1-\beta_2+\gamma q(1+\mu)](1+\delta q)\Psi_{2,n,q}(\alpha,\lambda)-(1-\beta_1)(1-\beta_2)}. \quad (3.16)$$

This completes the proof.

Theorem 5. *If $f_j(z) \in TS_{\lambda,q}^{n,\alpha}(\delta, \gamma, \mu, \beta_j)$, $j = (1, 2, \dots, p)$ is defined by (3.1), then $(f_1 * f_2 * \dots * f_p)(z) \in TS_{\lambda,q}^{n,\alpha}(\delta, \gamma, \mu, \rho_2)$, where*

$$\rho_2 = 1 - \frac{\gamma q(1+\mu) \prod_{j=1}^p (1-\beta_j)}{\prod_{j=1}^p [1-\beta_j + \gamma q(1+\mu)] [(1+\delta q)\Psi_{2,n,q}(\alpha,\lambda)]^{p-1} - \prod_{j=1}^p (1-\beta_j)}. \quad (3.17)$$

Proof. For $p = 1$, we see that $\rho_2 = \beta_1$. For $p = 2$, proceeding as Theorem 3.2, the result is true. Suppose that the result is true for any positive integer p . We must show that

$$(f_1 * f_2 * \dots * f_{p+1})(z) \in TS_{\lambda,q}^{n,\alpha}(\delta, \gamma, \mu, \eta),$$

where

$$\eta = 1 - \frac{\gamma q(1+\mu)(1-\rho_2)(1-\beta_{p+1})}{[1-\rho_2 + \gamma q(1+\mu)][1-\beta_{p+1} + \gamma q(1+\mu)](1+\delta q)\Psi_{2,n,q}(\alpha,\lambda) - (1-\rho_2)(1-\beta_{p+1})} \quad (3.18)$$

and ρ_2 is given by (3.17). After simple computations, we have

$$\eta = 1 - \frac{\gamma q(1+\mu) \prod_{j=1}^{p+1} (1-\beta_j)}{\prod_{j=1}^{p+1} [1-\beta_j + \gamma q(1+\mu)] [(1+\delta q)\Psi_{2,n,q}(\alpha,\lambda)]^p - \prod_{j=1}^{p+1} (1-\beta_j)},$$

this shows that the result is true for $p + 1$. Therefore, by mathematical induction, the result is true for any positive integer p .

4. PARTIAL SUMS

For $f \in S_{\lambda,q}^{n,\alpha}(\delta, \gamma, \mu, \beta)$, given by (1.1), its sequence of partial sums is

$$f_m(z) = z + \sum_{k=2}^m a_k z^k \quad (m \in \mathbb{N}). \quad (4.1)$$

Applying the technique used by ([5], [14], [16] and [22]) on partial sums of analytic univalent functions, to obtain the results. And let

$$B_k(n, q, \alpha, \lambda, \delta, \gamma, \mu, \beta) = \left[1 - \beta + \gamma \left([k]_q - 1\right) (1 + \mu)\right] \left[1 + \left([k]_q - 1\right) \delta\right] \Psi_{k,n,q}(\alpha, \lambda). \quad (4.2)$$

Theorem 6. *Let $f \in S_{\lambda,q}^{n,\alpha}(\delta, \gamma, \mu, \beta)$, satisfies the condition (2.1), then*

$$(a) \operatorname{Re} \left(\frac{f(z)}{f_m(z)} \right) \geq \frac{B_{m+1}(n, q, \alpha, \lambda, \delta, \gamma, \mu, \beta) - (1 - \beta)}{B_{m+1}(n, q, \alpha, \lambda, \delta, \gamma, \mu, \beta)}, \quad (4.3)$$

$$(b) \operatorname{Re} \left(\frac{f_m(z)}{f(z)} \right) \geq \frac{B_{m+1}(n, q, \alpha, \lambda, \delta, \gamma, \mu, \beta)}{B_{m+1}(n, q, \alpha, \lambda, \delta, \gamma, \mu, \beta) + (1 - \beta)}, \quad (4.4)$$

where

$$B_k(n, q, \alpha, \lambda, \delta, \gamma, \mu, \beta) \geq \begin{cases} 1 - \beta & k = 2, 3, \dots, m \\ B_{m+1}(n, q, \alpha, \lambda, \delta, \gamma, \mu, \beta) & k = m + 1, \dots \end{cases} \quad (4.5)$$

The result (4.3) and (4.4) are sharp with the function given by

$$f(z) = z + \frac{1 - \beta}{B_{m+1}(n, q, \alpha, \lambda, \delta, \gamma, \mu, \beta)} z^{m+1}. \quad (4.6)$$

Proof. Let

$$\begin{aligned} \frac{1 + w(z)}{1 - w(z)} &= \frac{B_{m+1}(n, q, \alpha, \lambda, \delta, \gamma, \mu, \beta)}{1 - \beta} \left[\frac{f(z)}{f_m(z)} - \frac{B_{m+1}(n, q, \alpha, \lambda, \delta, \gamma, \mu, \beta) - (1 - \beta)}{B_{m+1}(n, q, \alpha, \lambda, \delta, \gamma, \mu, \beta)} \right] \\ &= \frac{1 + \sum_{k=2}^m a_k z^{k-1} + \left(\frac{B_{m+1}(n, q, \alpha, \lambda, \delta, \gamma, \mu, \beta)}{1 - \beta} \right) \sum_{k=m+1}^{\infty} a_k z^{k-1}}{1 + \sum_{k=2}^{\infty} a_k z^{k-1}}. \end{aligned} \quad (4.7)$$

It suffices to show that $|w(z)| \leq 1$. Now from (4.7) we have

$$w(z) = \frac{\left(\frac{B_{m+1}(n, q, \alpha, \lambda, \delta, \gamma, \mu, \beta)}{1 - \beta} \right) \sum_{k=m+1}^{\infty} a_k z^{k-1}}{2 + 2 \sum_{k=2}^m a_k z^{k-1} + \left(\frac{B_{m+1}(n, q, \alpha, \lambda, \delta, \gamma, \mu, \beta)}{1 - \beta} \right) \sum_{k=m+1}^{\infty} a_k z^{k-1}}.$$

Hence

$$|w(z)| \leq \frac{\left(\frac{B_{m+1}(n,q,\alpha,\lambda,\delta,\gamma,\mu,\beta)}{1-\beta}\right) \sum_{k=m+1}^{\infty} |a_k|}{2 - 2 \sum_{k=2}^m |a_k| - \left(\frac{B_{m+1}(n,q,\alpha,\lambda,\delta,\gamma,\mu,\beta)}{1-\beta}\right) \sum_{k=m+1}^{\infty} |a_k|}.$$

Now $|w(z)| \leq 1$ if

$$\sum_{k=2}^m |a_k| + \left(\frac{B_{m+1}(n,q,\alpha,\lambda,\delta,\gamma,\mu,\beta)}{1-\beta}\right) \sum_{k=m+1}^{\infty} |a_k| \leq 1.$$

From (2.1) it is sufficient to show that

$$\sum_{k=2}^m |a_k| + \left(\frac{B_{m+1}(n,q,\alpha,\lambda,\delta,\gamma,\mu,\beta)}{1-\beta}\right) \sum_{k=m+1}^{\infty} |a_k| \leq \sum_{k=2}^{\infty} \left(\frac{B_k(n,q,\alpha,\lambda,\delta,\gamma,\mu,\beta)}{1-\beta}\right) |a_k|,$$

which is equivalent to

$$\sum_{k=2}^m \left(\frac{B_k - 1 + \beta}{1-\beta}\right) |a_k| + \sum_{k=m+1}^{\infty} \left(\frac{B_k(n,q,\alpha,\lambda,\delta,\gamma,\mu,\beta) - B_{m+1}(n,q,\alpha,\lambda,\delta,\gamma,\mu,\beta)}{1-\beta}\right) |a_k| \geq 0. \quad (4.8)$$

For $z = re^{i\pi/m}$ we have

$$\begin{aligned} \frac{f(z)}{f_m(z)} &= 1 + \frac{1-\beta}{B_{m+1}(n,q,\alpha,\lambda,\delta,\gamma,\mu,\beta)} z^m \rightarrow 1 - \frac{1-\beta}{B_{m+1}(n,q,\alpha,\lambda,\delta,\gamma,\mu,\beta)} \\ &= \frac{B_{m+1}(n,q,\alpha,\lambda,\delta,\gamma,\mu,\beta) - 1 + \beta}{B_{m+1}(n,q,\alpha,\lambda,\delta,\gamma,\mu,\beta)} \text{ where } r \rightarrow 1^-, \end{aligned}$$

which shows that $f(z)$ given by (4.6) gives the sharpness. To prove the second part of this theorem, we write

$$\begin{aligned} \frac{1+w(z)}{1-w(z)} &= \frac{B_{m+1}(n,q,\alpha,\lambda,\delta,\gamma,\mu,\beta) + 1 - \beta}{1-\beta} \\ &\times \left[\frac{f_m(z)}{f(z)} - \frac{B_{m+1}(n,q,\alpha,\lambda,\delta,\gamma,\mu,\beta)}{B_{m+1}(n,q,\alpha,\lambda,\delta,\gamma,\mu,\beta) + (1-\beta)} \right] \\ &= \frac{1 + \sum_{k=2}^m a_k z^{k-1} - \left(\frac{B_{m+1}(n,q,\alpha,\lambda,\delta,\gamma,\mu,\beta)}{1-\beta}\right) \sum_{k=m+1}^{\infty} a_k z^{k-1}}{1 + \sum_{k=2}^m a_k z^{k-1}}, \end{aligned}$$

where

$$|w(z)| \leq \frac{\left(\frac{1-\beta+B_{m+1}(n,q,\alpha,\lambda,\delta,\gamma,\mu,\beta)}{1-\beta}\right) \sum_{k=m+1}^{\infty} |a_k|}{2 - 2 \sum_{k=2}^m |a_k| - \left(\frac{1-\beta-B_{m+1}(n,q,\alpha,\lambda,\delta,\gamma,\mu,\beta)}{1-\beta}\right) \sum_{k=m+1}^{\infty} |a_k|}.$$

Now $|w(z)| \leq 1$ if

$$\sum_{k=2}^m |a_k| + \left(\frac{B_{m+1}(n,q,\alpha,\lambda,\delta,\gamma,\mu,\beta)}{1-\beta}\right) \sum_{k=m+1}^{\infty} |a_k| \leq 1.$$

Making use of (2.1) to get (4.8). Finally, equality holds in (4.4) for the external function $f(z)$ given by (4.6).

Theorem 7. Let $f \in S_{\lambda,q}^{n,\alpha}(\delta, \gamma, \mu, \beta)$, satisfies the condition (2.1), then

$$(a) \operatorname{Re} \left(\frac{f'(z)}{f'_m(z)} \right) \geq \frac{B_{m+1}(n,q,\alpha,\lambda,\delta,\gamma,\mu,\beta) - (m+1)(1-\beta)}{B_{m+1}(n,q,\alpha,\lambda,\delta,\gamma,\mu,\beta)}, \quad (4.10)$$

$$(b) \operatorname{Re} \left(\frac{f'_m(z)}{f'(z)} \right) \geq \frac{B_{m+1}(n,q,\alpha,\lambda,\delta,\gamma,\mu,\beta)}{B_{m+1}(n,q,\alpha,\lambda,\delta,\gamma,\mu,\beta) + (m+1)(1-\beta)}, \quad (4.11)$$

where

$$B_{k+1}(n,q,\alpha,\lambda,\delta,\gamma,\mu,\beta) \geq \begin{cases} k(1-\beta) & k = 2, 3, \dots, m \\ k(1-\beta) + \frac{k(B_{m+1}(n,q,\alpha,\lambda,\delta,\gamma,\mu,\beta))}{(m+1)} & k = m+1, \dots \end{cases} \quad (4.12)$$

The results are sharp with the function given by (4.6).

Proof. We prove (a). The proof of (b) is similar and will be omitted. We write

$$\begin{aligned} \frac{1+w(z)}{1-w(z)} &= \frac{B_{m+1}(n,q,\alpha,\lambda,\delta,\gamma,\mu,\beta)}{(m+1)(1-\beta)} \\ &\times \left[\frac{f'(z)}{f'_m(z)} - \left(\frac{B_{m+1}(n,q,\alpha,\lambda,\delta,\gamma,\mu,\beta) - (m+1)(1-\beta)}{B_{m+1}(n,q,\alpha,\lambda,\delta,\gamma,\mu,\beta)} \right) \right], \end{aligned}$$

where

$$w(z) = \frac{\left(\frac{B_{m+1}(n,q,\alpha,\lambda,\delta,\gamma,\mu,\beta)}{(m+1)(1-\beta)}\right) \sum_{k=m+1}^{\infty} k a_k z^{k-1}}{2 + 2 \sum_{k=2}^m k a_k z^{k-1} + \left(\frac{B_{m+1}(n,q,\alpha,\lambda,\delta,\gamma,\mu,\beta)}{(m+1)(1-\beta)}\right) \sum_{k=m+1}^{\infty} k a_k z^{k-1}}.$$

Now $|w(z)| \leq 1$ if

$$\sum_{k=2}^m k |a_k| + \left(\frac{B_{m+1}(n, q, \alpha, \lambda, \delta, \gamma, \mu, \beta)}{(m+1)(1-\beta)} \right) \sum_{k=m+1}^{\infty} k |a_k| \leq 1.$$

From (2.1) it is sufficient to show that

$$\begin{aligned} \sum_{k=2}^m k |a_k| + \left(\frac{B_{m+1}(n, q, \alpha, \lambda, \delta, \gamma, \mu, \beta)}{(m+1)(1-\beta)} \right) \sum_{k=m+1}^{\infty} k |a_k| \\ \leq \sum_{k=2}^{\infty} \left(\frac{B_k(n, q, \alpha, \lambda, \delta, \gamma, \mu, \beta)}{1-\beta} \right) |a_k|, \end{aligned}$$

which is equivalent to

$$\begin{aligned} \sum_{k=2}^m \left(\frac{B_k(n, q, \alpha, \lambda, \delta, \gamma, \mu, \beta) - (1+\beta)k}{1-\beta} \right) |a_k| + \\ \sum_{k=m+1}^{\infty} \left(\frac{(m+1)B_k(n, q, \alpha, \lambda, \delta, \gamma, \mu, \beta) - (B_{m+1}(n, q, \alpha, \lambda, \delta, \gamma, \mu, \beta))k}{(m+1)(1-\beta)} \right) |a_k| \geq 0, \end{aligned}$$

this completes the proof.

REFERENCES

- [1] M. H. Abu-Risha, M. H. Annaby, M. E. H. Ismail and S. Mansour, *Linear q -difference equations*, Z. Anal. Anwend. 26 (2007), 481–494.
- [2] F. M. Al-Oboudi, *On univalent functions defined by a generalized Sălăgean operator*, Int. J. Math. Sci., 27(2004), 1429–1436
- [3] F. M. Al-Oboudi and K. A. Al-Amoudi, *On classes of analytic functions related to conic domains*, J. Math. Anal. Appl., (2007), 1 – 21.
- [4] M. H. Annaby and Z. S. Mansour, *q -Fractional Calculus and Equations*, Lecture notes in Math., vol. 2056. Springer, Berlin (2012).
- [5] M. K. Aouf and A. O. Mostafa, *On partial sums of certain meromorphic p -valent functions*, Math. Computer Modelling, 50 (2009), 1325–1331.
- [6] M. K. Aouf and A. O. Mostafa, *Subordination results for analytic functions associated with fractional q -calculus operators with complex order*, Afr. Mat., 31 (2020), 1387 – 1396.

- [7] M. K. Aouf and A. O. Mostafa, *Some subordinating results for classes of functions defined by Sălăgean type q -derivative operator*, Filomat., 34 (2020), no. 7, 2283 – 2292.
- [8] M. K. Aouf and A. O. Mostafa, *Some subordination results for classes of analytic functions defined by the Al-Oboudi–Al-Amoudi operator*, Arch. Math., 92 (2009), 279–286.
- [9] M. K. Aouf and A. O. Mostafa and F. Y. Al-Quhali, *properties of a class of β -uniformly univalent functions defined by Sălăgean type q -difference operator*, Int. J. Open Problems Complex Analysis, 11 (2019), no. 2, 1-16.
- [10] M. K. Aouf, A. O. Mostafa and A. A. Hussain, *Properties of certain class of uniformly starlike and convex functions defined by convolution*, Int. J. Open Problems Complex Analysis, 7 (2015), no.2, 1-15.
- [11] M. K. Aouf, A. Shamandy, A. O. Mostafa and F. El-Emam, *Subordination results associated with β -uniformly convex and starlike functions*, Proc. Pakistan Acad. Sci. 46 (2009) no. 2, 97-101.
- [12] M. K. Aouf, A. O. Mostafa, A. M. Shahin and S. M. Madian, *Subordination theorem for analytic function defined by convolution*, Indian. J. Math., 54 (2012), no.1, 1-11.
- [13] M. K. Aouf, A. Shamandy, A. O. Mostafa and S. M. Madian, *Subordination theorem for analytic function defined by convolution*, Proc. Pakistan Acad. Sci., 96 (2009), no.4, 227 – 232.
- [14] B. A. Frasin, *Partial sums of certain analytic and univalent functions*, Acta Math., 21 (2005), 135-145.
- [15] F. H. Jackson, *On q -functions and a certain difference operator*, Trans. R. Soc. Edinb. 46 (1908), 64–72.
- [16] A. O. Mostafa, *On partial sums of certain analytic functions*, Demonstratio Math., (2008), no. 4, 780-789.
- [17] A. O. Mostafa and Z. M. Saleh, *On a class of uniformly analytic functions with q -analogue*, Int. J. Open Problems Complex Analysis, 13 (2021), no. 2, 1-13.
- [18] S. Owa, *On the distortion theorems*, Kyungpook Math. J., 18(1978), 53–59.
- [19] S. Owa and H. M. Srivastava, *Univalent and starlike generalized hypergeometric functions*, Canad. J. Math., 39 (1987), 1057–1077.
- [20] G. S. Sălăgean, *Subclasses of univalent functions*, Lecture Notes in Math. Vol. 1013, Springer, Berlin, (1983), 362-372.
- [21] A. Schild and H. Silverman, *Convolution of univalent functions with negative coefficients*, Ann. Mariae Curie-Sklodowska Sect. A, 29 (1975), 99 – 107.

[22] H. Silverman, *Partial sums of starlike and convex functions*, J. Math. Appl., 209 (1997), 221 – 227.

M.A. Mowafy
Department of Mathematics, Faculty of Science,
University of Mansoura, Mansoura, Egypt
email: *mohamed1976224@gmail.com*

A.O. Mostafa
Department of Mathematics, Faculty of Science,
University of Mansoura, Mansoura, Egypt
email: *adelaeg254@yahoo.com*

S. M. Madian
Basic Science Dept.,
Higher Institute for Engineering and Technology,
New Damietta, Egypt
email: *samar_math@yahoo.com*